Production Possibilities Curve Name KEY

1. FIGURE 1 prc shows the production possibilities curve for thereemy of Alpha,
which makes weapons of
mass destruction and food.

140,000 —
a. If all resources are
devoted to the production of 120,000 —
food, Alpha can produce
140,000 pounds of 100,000 A
food. In order to produce
1,500 WMD, the opportunity
cost in terms of food is
__10,000___ pounds. To
produce another 1,000
WMD, the opportunity cost 20,000 —|
(risedfalls) to
__ 40,000 pounds. As T 1 1
long as the PPF continues to 1,000 2,000 3,000
curve outward and Weapons of Mass Destruction
downward, the opportunity
cost of increased WMD B FIGURE 1 ppc
output will (continue to
rise/start to fall). Food doesn’t easily convert into weapons of naessruction so more
resources must be used as more weapons are prodéiteel resources were perfectly
substitutable, how would you draw the PPF? (HIN'Your MP3 player could only hold
100 songs and currently held 100 songs, how mangsseould you have to give up to
get one more?) he PPF would be a straight linewith equal Y and X. i.e. 30 Food
and 30 WMD.
b. Find the combination of 2,500 WMD and 90,000mds of Food on Figure 1. Label
this point A. Is it an attainable combination Adpha? _Yes  Find the combination
of 2,750 WMD and 70,000 pounds of Food. Label gumt B. Is it attainable?
___Yes__ Find specialization point, 0 WMD and 140,00@pas of Food and label it
point C. Is this point attainable?Yes  We conclude that attainable combination
points are @n/inside/outsidejhe production possibilities curve.
c. A point inside of the production possibilitiesrve is inefficient because it is possible
to produce more of one or both goods without oppoty cost. Find the combination of
2,000 WMD and 40,000 pounds of Food. Label thisgd. Show that it is inefficient
by shading all of the attainable combinations #etw that more of one or both goods
can be attained.
d. Suppose the government of Alpha wanted to nfirmve 70,000 pounds of Food and
2,750 WMD to 0 pounds of Food and 3,000 WMD. Clatithe opportunity cost in
terms of pounds of Food. 70,000 Is specialization point O pounds of Food and
3,000 WMD desirable? Probably Not__ What point is best for Alph&Rnswers
will vary.)
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2. ADVANCED ANALYSIS. Omega is a small tropicaland that produces pearls (P)
and fish (F). Omega’s production possibilitiesveuis given by:

P=2LK®- 3P

Where L is the size of the labor force (400 peopla) K is the number of capital goods
which is 100.

a. What is the maximum number of fish that capieeluced36.51 Call this number
F*. What is the maximum number of pearls that lsaproduced200 Call this number
P*.

b. Calculate pearl production for points for #&sombinations. F = 10, 20, 30, 36.
Graph the PPC for Omega. Label the X-axis, Fabell the Y-axis, Pearls.

c. Is this PPC consistent with increasing co¥te®

d. Is the output combination 1/2F*, 1/2P* attaile&ty es Is this point efficient? No.
Why or why notdnside the PPC.

e. What is the opportunity cost of more fish whérfish are produced? 20 fish? 30
fish? 30, 90, 150

400

300 —

Pearls

200

30,130
100

36.17,0

10 20 30 40
Fish

Author's comments. This problem uses the aggrega@uction function (2K=) to
show the maximum amount Omega could produce. Bectue exponents sum to 1, the
function has constant returns to scale. The proaluéunction also exhibits diminishing
returns.
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